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QUESTION 1

Why would the data crawler be used with the IBM Watson Discovery service? 

A. When working with the tooling, the data crawler can be used to upload sample documents. 

B. The data crawler automates the upload of content to the Discovery Service. 

C. When there is a business need to dynamically crawl websites, Twitter and constantly changing content. 

D. Use the data crawler when structured data must be mined from other services. 

Correct Answer: B 

 

QUESTION 2

When would this pattern be used? 

A. When there is a need to disambiguate the output of a dialog 

B. When there is a need to analyze or index content contained within an image 

C. When there is a need to analyze or index content contained within speech 

D. When there is a need to search through output from Natural Language Classifier 

Correct Answer: C 

 

QUESTION 3

What combination of these Watson AI capabilities are applicable for an email-based, help desk? 

A. structured data analytics 

B. image classification 

C. keyword extraction 

D. speech recognition 

E. text classification 
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F. entity extraction 

Correct Answer: CE 

 

QUESTION 4

How does a developer obtain all of the information needed to connect to an IBM Watson AI service? 

A. All needed information is published in the service\\'s online reference 

B. From the service instance, using the IBM Cloud GUI or the Command Line Interface (CLI), or programmatically using
IBM Cloud environment variables 

C. Programmatically using the IBM Cloud registry 

D. Connection information is found in the IBM Cloud dashboard 

Correct Answer: A 

 

QUESTION 5

An AI solution is implemented to detect what the user wants to do. The user mentions that he wants to buy a ski jacket
for an upcoming vacation in Colorado? 

How could IBM Watson Natural Language Classifier (NLC) be used in the solution? 

A. Profile properties configured for NLC could direct selection of intent 

B. A location intent could be trained to assess the relevant attitude for the desired product 

C. The phase entered by the user is passed to a classifier to provide a class that indicates the user\\'s intent 

D. A new classifier could point to the correct answer to each question 

Correct Answer: B 
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